Year 2 - Maths Day 3 		13.5.2020  
These questions will help you practise the addition skills you have revised in the last two days. Remember to use resources, scrap paper, etc to help you – do not expect to do it all in your head!
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Reasoning Questions
These are always more challenging so try your best - remember to write your answers in sentences if you have time.
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8a. When added together, the numbers
must total more than 56 but less than 59.

A B.

35 28

23 29

Match the numbers above fo create two
pairs.

8b. When added together, the numbers
must total more than 68 but less than 71.

A B.

38 32

41 29

Match the numbers above fo create two
pairs.

9a. Jack says,

Is he correct? Prove it.

9b. Emily says,

Forty-five add
forty-seven equals

Is she comrect? Prove it.
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7a. True or false?
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7b. True or false?
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8a. Circle the incorrect sum that does not
equal the answer shown below.
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8b. Circle the incorrect sum that does not
equal the answer shown below.
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9a. Add the two numbers below together.

9b. Add the two numbers below together.

2 ?
38 45 54 38
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10a. Find the missing digit. 10b. Find the missing digit.
6 + 35 =81 53 +39 =2
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11a. True or false?

11b. True or false?
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3a. Scarlett says,

37+34=61
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Is she comrect? Prove it.

3b. Logan says,

34+26=50

o
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Is he correct? Prove it.
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4a. Cindy has a number shown below:
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Which number below can be added fo
Cindy's fo equal 83?

A B. C.

28 26 27
g

4b. Oliver has a number shown below:
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Which number below can be added to
Oliver's to equal 92?

A B. C.

57 58 59
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